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SUBJECT: ENGLISH
LITERATURE
1. Answer the following questions in brief.
a) Aunt Polly said that Tom broke her heart by giving excuses for not going to school. Do you support
Tom's behaviour towards Aunt Polly? Give reason for your answer.
b) You have read the story of Swaminathan in “A Tale of Tail”, where a dispute among classmates is

depicted. We, sometimes, encounter such situations where there is a conflict among friends. Briefly
describe your conflict with your friends in school and your feelings after the dispute.

GRAMMAR & WRITING SKILLS

1. Read the paragraph below. It contains incorrect forms of abstract nouns. Identify and correct
the errors by replacing the incorrect forms with their correct abstract noun forms:

Incorrect Correct
1) The teacher admired the brave of the brave bravery

ii)student during the speech. Her decide

iii)to help the poor showed great strong.

iv)The happy on her face reflected her

v)kind. Everyone praised her

vi)perform in the competition.

2. Edit the paragraph given below by including determiners where required. Put a slash (/), at
the places that require determiners and write the correct determiner on the space given beside
each line. One has been done for you.

Answers
i) / student in the class was Every
ii) excited about upcoming exam.
iii) students had studied hard and were confined, while others were a bit anxious.
iv) teacher assured them that

V) question would be carefully designed to test their knowledge.

3. Suppose you are a student who witnessed the incident that happened in class among Swami,
Shankar and Pea. Write a letter to the Principal informing him about the reason behind the incident
and describing the entire incident in detail.
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SUBJECT: BENGALI
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Subject : Sanskrit
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SUBJECT: MATHEMATICS

SECTION: A
1. Place value of 5 in 58, 62,479 is .
A)5
B) 50,000
C) 5,000,000
D) 500,000
2. The largest number is
A) 87, 54,321
B) 78, 45,123
C) 88, 00,000
D) 87, 00,999
3. 40, 00,000 + 3, 00,000 + 2,000 + 70 + 1 can be written as .
A) 4, 32,071
B) 43, 02,701
C) 40, 32,071
D) 4, 03, 27,001
4. The sum of 45, 67,321 and 23, 45,678 is .
A) 69, 12,999
B) 69, 13,000
C) 69, 12,000
D) 68, 12,999
5. 10™ multiple of 10 is
A) 0
B) 1
C) 100
D) 10
SECTION: B
6. Find the sum of 67, 89,123 and 12, 10,877.
7. Write the number 6,78,23,568 in expand form.
8. Find the L.C.M. OF 6,8.
SECTION: C

9. Riya saved Rs.2,500 every month for 3 years. How much money did she save in total?



10. Write the common multiple of 12, 16, 18. Hence find the L.C.M.

11. Form the greatest and smallest 8-digit number using the digits 3, 5, 7, 0, 2, 6, 4, 9 (without repeating
digits). Write them in words and compare them.

12. Divide 5, 40,800 by 80 and write the quotient and remainder.
SECTION: D

13. Divide and check: 5, 68,785 + 40

Project Work :

Create a table with seven columns, representing the Indian & International place values.



SUBJECT-SCIENCE

Prepare a portable model of water cycle and answer the following questions in your lab
activity copy.

Rewrite the following sentence correctly:

Evaporation and condensation increase the amount of water vapour in the atmosphere.

Fill in the blanks:

a)Our wet clothes dry up fast under the sun due :

b)If the atmospheric temperature goes then there is the possibility of raining.
Note:1. Use of Thermocol / plastic is not allowed to prepare the model.

2.Take a photo of your model along with you in school dress. Paste one print out of
that photo in the white page of the activity copy.



SUBJECT : SOCIAL SCIENCE

Q.NO.

QUESTION

Choose the correct option:

I. Houses in the hilly regions have
a. Flat roofs
b. High roofs
c. Sloping roofs
d. Bamboo roofs

ii. Which of them is not a man-made disaster?\
a. Earthquake
b. Fire
c. Terrorist Activities
d. Missile Attack

>

“You cannot improve quality of your life unless your neighbour’s life improves.’
Explain the statement.

List four responsibilities we have as a good neighbour.

“In cities high-rise apartment buildings or flats are common.” State the reasons.

Differentiate between Voluntary and Forced Migration.

“Animals know about the direction of Migration.” How is it possible?

R R el e

You went to Shimla during vacation. You saw that all houses sloping roofs.
i. Name the state where Shimla is situated.
ii. State the reason behind the houses having sloping roofs in Shimla.

Every year we hear that some birds like Siberian Crane, Blue Throat were seen in India
in winter months. State the reasons behind this.

Name the two nomads groups of India.

Write the meanings of the following:
I. Langar
ii. Nomads

Map Based Work —

On a political map of India locate & label the following :
The capital of India.

The state in which you live.

A state in the desert region.

A state where you will see houses with sloping roofs.
A city that attracts migrants from rural areas.
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